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MATH 1 a)

1) 1448 = e,
2) 20 =9 =2 .. sesmmnsreare e
3) 2XA = s

4) iRl |- O ————

5) | LT S —
6) 58+94 = ..,
7) B5X9 =i

8) 3+8+4+7+6+1= i,

9)  830-549= .
10) 57 X4 = oo
11) T2 U6 e

12) 655+ 96 = oo

13) 950 -25 X 10 = oo
Test math 1|1



14)

15)
16)
17)

18)

19)
20)
21)

22)

23)
24)
25)

26)

27)
28)
29)

30)

(100:4-5x2)x1l= .

DT X T = e

8220 - 2038 = ..o

QOB 24 = iitiamassos iz

7148 + 23871 = ..,

9600 x 420 = ...

3264 : 16 = oo

17660 - 8234 = ...

20345 + 87 + 4296 + 562 = .......ccocoocerircrrrrr

365+427 3= i

5200-75,35 = ..o

4,15 0,8 = oo

415:0,08 = ..o

3,725+79+289,08 = ..o

L75m= e,

3mMiNn45 8= i

cm

25 7%de 200 = ...,
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1)

2)
3)
4)
5)
6)
7)
8)
9)

10)

11)

12)

13)

MATH 1 b)

(-12): (-6) =
(-12) + (-6) =
(-12) * (-6) =

-12-6=

L (#2) ¢ (2) ¢ (+2) ¢ (+2)=

3°(-5)+5=
2X+3X=
4a-3a=

2X+y-y-5+T7x=
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15)

16)

17)
18)

19)

20)

21)

22)
23)

24)

25)

(5=

6P 44 =

3:7-100: 4=
80 - 40 : 8 +2 - (+2) - (-75) =

2x - (8x-b) =

(Sew—b)2 =

(23)2 _

~11%=
V2500 =
Jod+16

210-47:(20-2+2%-10)-8 =
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26)  (-10)"+10°~+/10000 +12-(~1)=

27) (x=30)(x+50)=

28) (8a—3b)+(2a+12b)=

29) Résous I'équation suivante.

10,5x—-16=2,5x
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30) Résous I'équation suivante.

7x—(12x— 34) =8X—5
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